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sndammslvafiza = 83.2 cm’/s
AL = 997 kg/m’

A1C, yadih = 4.18 kJ/kg-K
o 1 opt kg

x x 997
s 10° _om® B
0.0829504 kg/s ~ 0.083 kg/s

S.m = 33.2
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- figamgidnmssimesing 30C

a

k
~Q = 008328 418 x (0.133) K
s kg —
= 0.046 kKW
- igaungiid M szneidL 40°C
k kI
nQ = 00838 w418 x (0433) K
% kg — K
= 0.150 kW
- figungdaumhsememiinu 50°C
k,
Q= 00838 « 418 x (0.566) K
s kg— K
= 0.196 kW
- NYUNYUA WM ILUNEIINY 60 C
k
~Q =  00832% x4.18 x (1433) K
s kg —
= 0.497 kW
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-fig gaMia N sEmemAL 70°C

SLQ = 0.083k—g x 4,18 K x(1.6)K
s kg -K
= 0.555 kW
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L 1 008378 x418— " _ 0466 K
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0.809 kW
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